
© High Q 

   פתרונות-  למתקדמיםשורשים

1. 
1

10

1 204 54 5 10 10 249 49 49 49 7
⋅ ⋅

= = = =

2. 55 5 58 4 8 4 32 2⋅ = ⋅ = =

3. 
3

33
3
128 128 64 4

22
= = =  

4.
2 2

3 333
y yx x y

y x y x
⋅ = ⋅ =

5. 33 2 3 62z z z z⋅= = =

6. 
31

3 2 162 66 6 6
1 2
3 6

A A A A A

A A

−
= = = =

7. 3 326 6 2 6 3 44 4 12 12 12A B A B A B A B A B⋅ = ⋅ = ⋅ = ⋅ = ⋅i i

8. 
9 1

3 6 3 6 189 9 9 18 211 11 11 11 11 11⋅= = = = =  

9. 
1

1 3 2 14
4 4 4 2

3 1
4 2

16 1 1 116 16 16
416

16 16

− − −
= = = = = =

תרגול פסיכומטרי

תרגול פסיכומטרי

תרגול פסיכומטרי




